
SAP ABAP table PPOIX {Index of Payroll Result Lines -> Posting Lines}

PPOIX

MANDT [CLNT (3)]

PERNR [NUMC (8)]

SEQNO [NUMC (5)]

ACTSIGN [CHAR (1)]

RUNID [NUMC (10)]

POSTNUM [NUMC (5)]

KOART [CHAR (2)]

MOMAG [CHAR (3)]

KOMOK [CHAR (4)]

PEVST

MANDT [CLNT (3)]

TYPE [CHAR (2)]

RUNID [NUMC (10)]

 PPOIX-RUNID = PEVST-RUNID 0..N

1

T000

MANDT [CLNT (3)] PPOIX-MANDT = T000-MANDT 0..N

1
T52EK

MANDT [CLNT (3)]

SYMKO [CHAR (4)]

 PPOIX-KOMOK = T52EK-SYMKO 
0..N1

T52EM

MANDT [CLNT (3)]

MOMAG [CHAR (3)]

 PPOIX-MOMAG = T52EM-MOMAG 

0..N

1

T52EP

MANDT [CLNT (3)]

KOART [CHAR (2)]

 PPOIX-KOART = T52EP-KOART 

0..N

1


